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Question 1

Chlorobenzene is formed
by reaction of chlorine with
benzene in presence of
AICIl;. Which of the
following species attacks
the benzene ring in this
reaction?
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Question 2

What should be the correct IUPAC name for diethylboromomethane ?
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Question 3

Reagents for following conversions is/are
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Question 4

In this reaction
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Question 5

Which are the following species can act as the strongest base ?
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Question 6

Reimer- Tiemann reaction is useful for the preparation of
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Question 7

Which of the following alcohols give iodoform test ?
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Question 8

In this following reaction, the product(s) formed is (are) —
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Question 9

Two aromatic compounds having formula
C;HgO. Which are easily identifiable by

FeCls; solution test (violet colouration) are:
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Question 10

Total number of i1somers
possible for the molecular
formula C4H;,0 is-
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Question 11

Which will be the major product in the following reaction ?
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Question 12

Which one of the
following compound
undergoes Sy! substitution

reaction faster?
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Question 13

Which one of the
tollowing compound
undergoes Sy* substitution

reaction faster ?
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Question 14

Which of the following structure is
enantiomeric with the molecule (A)

given below 7
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Question 15

The aldol condensation of acetaldehyde results in the formation of —
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Question 16

Which alkene gives propanone on ozonolysis ?
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Question 17

Identifv the product "A” in the
following reaction.

Question 18

Which of the following compounds
doesnot undergo Aldol condensation

reaction 7
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Question 19

Which of the following compounds
doesnot undergo Cannizaro’s

reaction 7
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Question 20

Which is the most suitable reagent for the following conversion?
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Question 21

Which ofthe following is correct representation forintennediate of
nucleophilic addition reaction to the given carbonvl compound (A)?
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Question 22

Which of the following alkyl halides will undergo SN1 reaction most? readily ?
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Question 23

In which of the following molecule’s carbon atom marked
estarisk (*) is asvmmetric’
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Question 24

For which compound excess AICI3 is required to carry out Fredle-Craft reaction ?
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Question 25

Which two or more options are currect for the following reaction 7
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Question 26

_Arrange the compounds in increasing order of
rate of reaction towards nucleophilic substitution
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Question 27

Which of the following compounds would
undergo 5:;* reaction faster 7
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Question 28

Predict the product of the following
reaction.
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Question 29

Which of the carbon atoms present
in the molecule given below are
asvmmetric 7

OH H 5
HO-~ 5 d 7

;;_%b_%c_ ¢
0 H OH N

e oqE FF (| I
A JEfeT 7

OH H 5
HO d .z
;ca—%b—%c— r:<
& H OH i

Question 30
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Which is the comrect [UPAC name
for:
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